
1

® 

Daytime Fan-Aspirated Radiation 
Shield Kit Installation Manual
For Vantage Pro2™ & Vantage Pro2 Plus™ Stations 

Introduction
The Daytime Fan-Aspirated Radiation Shield kit can be used to upgrade any 
Vantage Pro2 or Vantage Pro2 Plus sensor suite equipped with a passive 
radiation shield. 
Components:

Closed Cap Plate

Open Cap Plate

Open Plate

Sensor Transmitter 
Cover

Fan Plate



2

The kit also includes the following hardware:

Tools Needed
You may need some or all of the following tools to complete the upgrade: 
• A medium Phillips-head screwdriver
• Other tools as required to remove and re-mount the sensor suite

Prepare to Install Your Fan
Put console in Setup Mode
If you have a console, you should put it in Setup Mode. This prevents the 
reception of erroneous data while you are removing the sensor suite.
If you have an Envoy and are concerned with erroneous data, you may edit the 
data via the WeatherLink software. See the WeatherLink Online Help for more 
information. 
To put your console in Setup Mode, press and hold the DONE key and then 
press the down arrow (-). 

Note: If the console acquires erroneous data during the upgrade, see your console manual 
for instructions on clearing data. 

Take down the sensor suite
If you are installing the Daytime Fan Kit on an sensor suite that has already 
been set up, you will need to take it down and move it to a convenient and safe 
place to perform the installation. 

#8-32 x 3-1/4" Screws
(3)

#8-32 x 1/2" Screws
(3)

Threaded Spacers
(3)

#8 Split-Lock Washers (6)

Plastic Spacers (2)

#8 Flat Washers (6)

12" Cable Ties (2)



3

To disassemble the sensor suite:
1. Open the transmitter shelter 

cover.
2. Disconnect the solar panel 

wire from the cover.
3. Remove the foam insert from 

the cable access port in the 
lower right corner of the 
shelter and set it aside.

4. Disconnect the anemometer 
cable (labeled WIND) and the 
temperature/humidity sensor 
cable from the sensor 
transmitter and slide the 
cables out of the cable access 
port.

5. Cabled sensor suites only: 
Disconnect the console cable and slide it out of the cable access port.

6. You can now remove the sensor suite from its mounted position. Move it to 
a safe place to install the Daytime Fan. 

Disassemble the standard radiation shield

Note: We recommend using a workbench or table to perform the following procedures.

1. Remove the rain collector cone from 
the sensor suite base by rotating the 
cone counter-clockwise. When the 
cone’s latches line up with openings 
in the base, you can lift the cone off. 
The cone fits in the base tightly and 
may require extra pressure to remove 
the first few times.

Tip: Steady the sensor suite base between your knees when removing the cone

Lift off cover,
unplug solar power
connector



4

2. Remove the three 8-32 x 4'' screws 
holding the radiation shield plates 
together. Save these three screws 
and washers. 
Separate out the radiation plating.
The illustration at left is of a newer 
model of Vantage Pro2. See below 
if your temperature/humidity sensor 
is installed in a different position.

Move the temperature/humidity sensor
Most newer model sensor suites have the 
temperature/humidity sensor mounted on the 
underside of the top plate, as shown in the 
above illustration. On older models the sensor 
may be mounted on a different plate. In any 
case, unless the sensor is already mounted on 
the second to bottom-most plate of the 
radiation plating stack, on spacers, and facing 
down, you will need to uninistall it and 
reinstall as directed below.
1. Locate the plate at the top of the radiation 

shield plating and find the insulating disk 
with the temperature/humidity sensor on 
the underside of the radiation shield.

4" 
Screw

Plates

Rain Collector 
Base

Sensor
Cable 

Temperature/
Humidity
Sensor 

Lock 
Washer

Flat 
Washer

Insulating
Disk

Cable
Clamp

Temperature/
Humidity

Sensor



5

2. Remove the three screws, flat washer, and cable clamp securing the 
temperature/humidity sensor to the insulating disk. Save the small screw 
and flat washer for use later.

3. Remove the two screws holding the insulating disk attached on the 
underside and discard the disk.

4. Reinstall the sensor facing 
down on the second to 
bottom-most radiation plate, 
using the two 1” plastic 
spacers and #4 screws 
included with the kit. 

5. Replace the radiation plate 
back in its correct place in the 
radiation shield plating stack.

Note: You do not need to use a cable clamp on the sensor cable when mounted on this 
plate.

Assemble the Lower Section
Once the existing radiation shield has been disassembled and the 
Temperature/Humidity sensor has been mounted correctly in the radiation 
plating stack, the existing disks have to be re-organized and assembled with 
the fan-aspirated kit. 
1. Build the lower section of the new radiation shield by stacking six plates; 

in this order, from the bottom up:
1: The original bottom plate. 
2: The disassembled original top plate (with the inslating disc removed).
3: The plate containing the temperature/humidity sensor.
4 & 5: The two open plates on top of the two bottom plates. 
6: The third open plate (supplied with the fan-aspirated kit).

Temperature/
Humidity
Sensor

Screws (2)

Flat Washers (2)

Plastic 
Spacers (2)



6

Note: When stacking plates, make sure their screw standoffs 
line up with each other.

2. Run the temperature/humidity cable up through the center of the three 
open plates. 

3. Set aside the re-assembled radiation shielding and find the fan plate motor 
assembly.

4. Attach the three threaded spacers to the fan plate using the three #8-32 x 
1/2'' screws and the three #8 washers and #8 lock washers included with 
the kit.

Fan Plate

Threaded 
Spacer

(3)

#8 Flat Washer

#8 Split-Lock Washer

#8-32 x 1/2" Screw



7

5. Detach the fan 
motor cable 
from the power 
cable assembly 
on the fan 
plate, lift the 
fan motor out 
and set it aside. 

6. Place the fan 
plate onto the radiation 
shielding stack.

7. Bring the temperature/ 
humidity cable over the 
top of the fan plate with 
as little slack as possible 
and press it firmly into 
the cable channel on the 
fan plate.

Fan Plate

Fan Plug

Power Cable
Assembly

Fan Motor
Assembly

Fan Plate

Channel

Temperature/Humidity
Cable

Lift Fan Motor up
and set aside



8

8. Place one of the 4'' screws 
removed from the original 
radiation shield and its 
corresponding #8 lock 
washer and # 8 flat 
washer into one of the 
radiation shield plate 
holes on the fan plate 
located just 
counter-clockwise from a 
threaded spacer, making 
sure the screw goes 
through the standoff in 
each of the plates and 
lines up with the threaded 
standoff located in the 
bottom plate.

9. Turn the screw to engage 
the threaded insert in the 
bottom plate.

10. Make sure the other screw 
standoffs are aligned and 
then insert the other two 
4'' screws and 
corresponding washers in 
the same way.

11. Tighten all three screws to 
securely fasten the bottom 
section of the radiation 
shield.

12. Place the fan motor back 
into place and plug the fan motor cable back into the power cable 
assembly.

13. Unscrew the cable clamp holding the power cable assembly in place.
14. Thread the temperature/humidity sensor cable into the cable clamp and 

tighten the screw back down in its original placement.
15. Place the cap plates on top (with the closed one on top) of the rest of the 

radiation shield and line up their standoffs.

Threaded Standoff 
in Bottom Plate

Screw
Standoff

Fan Plate

#8 Flat Washer

#8 Lock Washer

#8-32 x 4" Screws (3)



9

16. Insert one of the 3 1/4'' 
screws and 
corresponding lock 
and flat washers 
included in the kit 
hardware into one of 
the holes in the sensor 
suite base as show 
below.

17. Lower the sensor suite 
base onto the stack so 
that the screw goes 
through the standoffs and 
into the threaded spacers. 
Turn the screw a few 
times to engage the 
threads.

18. Place a lock washer and 
flat washer on the other 
two 3 1/4'' screws then 
insert them through the 
other two screw holes.

19. Tighten all three screws 
to securely fasten the 
radiation shield to the 
sensor suite base.

Radiation Shield Mounting Holes (3)

#8-32 x3-1/4" Screws (3)

#8 Lock Washers
#8 Flat Washers

Fan Plate

Sensor Suite Base

Open Cap Plate
(hole in center)

Closed Cap Plate

Power Cable
Assembly

Temperature/
Humidity

Cable

Sensor 
Transmitter



10

Finishing Steps
1. Install the rain collector cone and lock it in place.
2. Slide the fan unit’s power cable, the anemometer cable, and the 

temperature/humidity sensor cable and through the cable access port of the 
sensor transmitter.

Tip: If you have trouble getting all the sensor cables into the access port, make sure all the installed 
cables are pushed to the left of the access port. Try inserting the three cables through the access port 
in this order: fan power cable, anemometer cable, temperature/humidity cable.

3. Reconnect the temperature/humidity sensor cable. 
4. Close the sensor transmitter cover temporarily without connecting the 

solar panel cables.
5. Test communication between the sensor suite and the console. To test 

communication, take the console out of Setup Mode and make sure the 
console is receiving data from the sensor suite. See your sensor suite 
manual for more information on testing communication.

6. Reinstall the sensor suite in its previous location.
7. Open the sensor transmitter cover and discard it.
8. Reconnect the WIND (anemometer) cable.
9. Cabled sensor suites: Connect the console cable.
10. Find the new sensor transmitter door that came with your fan kit. Connect 

the wire coming from the top solar panel on the cover to the sensor 
transmitter board as shown below.

Note: This wire is not needed on cabled Vantage Pro2. For cabled systems, you should 
secure it where it will not interfere with the SIM box.

Top Panel
Wire

Bottom Panel
Wire

Power Cable
Assembly

Temperature/
Humidity

Cable

Sensor 
Transmitter

Sensor 
Transmitter

Shelter
Cover



11

11. Connect the wire coming from the bottom solar panel to power cable 
assembly in the sensor transmitter.

12. Reinsert the foam into the cable access port in the sensor transmitter.
13. Close the sensor transmitter.
14. Use cable ties to secure cables.
15. Make sure the fan blades are rotating by directing the transmitter cover to 

sunlight or by shining a bright incandescent light on the solar panel. 
You should hear a slight whir if the fan is running.

Tip: Make sure to take the console out of Setup Mode. Refer to your Vantage Pro2 Console Manual for 
more information on clearing any erroneous data from the console.

Guidelines for Securing Cables
• Secure cables so they will not whip in the wind.
• Secure cables to metal poles by using a cable tie or 

by wrapping electrical tape around them both. 
• Place clips or ties approximately every 3 to 5 feet 

(1 to 1.6 m). 
• If needed, additional cable ties, cable tie mounts, 

and other hardware can be obtained at a hardware or electronics store.

Note: Do not use metal staples or a staple gun to secure cables. Metal staples—especially 
when installed with a staple gun—have a tendency to cut the cables.

Maintenance
• Keep the surfaces of the shield and solar panel clean, since they are less 

effective when dirty. Remove dust from the solar panel and radiation shield 
with a damp cloth.

• Remove any debris obstructing air flow through the radiation shield such as 
leaves, twigs, webs, and nests.

• Do not spray the sensor suite with insecticides of any kind. Some 
insecticides can damage the sensors and even damage the radiation shield.

Annual Maintenance 
We recommend cleaning out any debris that may have accumulated inside the 
radiation shield and replacing the motor (# 7758) on an as-needed basis. The 
routine procedures for annual maintenance include:
1. Remove your fan-aspirated sensor suite and place on a stable work surface.
2. Check to see if the fan motor is still working. If it is not running, replace 

the motor with a new motor (# 7758).
3. Disassemble the radiation shield.
4. Remove any debris lodged inside the unit.
5. Clean the surfaces of the radiation shield with a damp cloth.

Cable Clip
Cable Tie

Securing Cables



Daytime Fan-Aspirated Radiation Shield, #7747  7395.236 Rev. D, 2/25/19

Vantage Pro® and Vantage Pro2™ are trademarks of Davis Instruments Corp., Hayward, CA. 
Davis Instruments Quality Management System is ISO 9001 certified.
© Davis Instruments Corp. 2019. All rights reserved.
Information in this document subject to change without notice.

3465 Diablo Avenue, Hayward, CA 94545-2778 U.S.A.
510-732-9229 • Fax: 510-732-9188

® 

info@davisinstruments.com  •  www.davisinstruments.com

FCC Part 15 Class B Registration Warning
This equipment has been tested and found to comply with the limits for a Class B digital device, pursuant to Part 15 of 
the FCC Rules. These limits are designed to provide reasonable protection against harmful interference in a residen-
tial installation. This equipment generates, uses, and can radiate radio frequency energy and, if not installed and used 
in accordance with the instructions, may cause harmful interference to radio communications.
However, there is no guarantee that interference will not occur in a particular installation. If this equipment does cause 
harmful interference to radio or television reception, which can be determined by turning the equipment on and off, the 
user is encouraged to try to correct the interference by one or more of the following measures:
• Reorient or relocate the receiving antenna.
• Increase the separation between the equipment and receiver.
• Connect the equipment into an outlet on a circuit different from that to which the receiver is connected.
• Consult the dealer or an experienced radio/TV technician for help.
Changes or modification not expressly approved in writing by Davis Instruments may void the warranty and void the 
user's authority to operate this equipment.
EC EMC Compliance
This product complies with the essential protection requirements of the 
EC EMC Directive 2004/108/EC.  Tested to comply

with FCC standards
FOR HOME OR OFFICE USE

6. Reassemble the radiation shield.
7. Re-install the sensor suite in its previous location.

Contacting Davis Instruments
For questions about installing or operating your Daytime Fan-Aspirated Radiation 
Shield, please contact Davis Technical Support. We’ll be glad to help.

Note: Please do not return items to the factory for repair without prior authorization.

Online www.davisinstruments.com
See the Weather Support section for copies of user 
manuals, product specifications, application notes, 
software updates, and more. 

E-mail support@davisinstruments.com

Telephone (510) 732-7814 
Monday - Friday, 7:00 a.m. - 5:30 p.m. Pacific Time. 


	Daytime Fan-Aspirated Radiation Shield Kit Installation Manual
	Introduction
	Components:
	Tools Needed

	Prepare to Install Your Fan
	Put console in Setup Mode
	Note: If the console acquires erroneous data during the upgrade, see your console manual for instructions on clearing data.
	Take down the sensor suite
	1. Open the transmitter shelter cover.
	2. Disconnect the solar panel wire from the cover.
	3. Remove the foam insert from the cable access port in the lower right corner of the shelter and set it aside.
	4. Disconnect the anemometer cable (labeled WIND) and the temperature/humidity sensor cable from the sensor transmitter and slide the cables out of the cable access port.
	5. Cabled sensor suites only: Disconnect the console cable and slide it out of the cable access port.
	6. You can now remove the sensor suite from its mounted position. Move it to a safe place to install the Daytime Fan.

	Disassemble the standard radiation shield

	Note: We recommend using a workbench or table to perform the following procedures.
	1. Remove the rain collector cone from the sensor suite base by rotating the cone counter-clockwise. When the cone’s latches line up with openings in the base, you can lift the cone off. The cone fits in the base tightly and may require extra press...
	Tip: Steady the sensor suite base between your knees when removing the cone
	2. Remove the three 8-32 x 4'' screws holding the radiation shield plates together. Save these three screws and washers. Separate out the radiation plating. The illustration at left is of a newer model of Vantage Pro2. See below if your temperature/h...
	Move the temperature/humidity sensor
	1. Locate the plate at the top of the radiation shield plating and find the insulating disk with the temperature/humidity sensor on the underside of the radiation shield.
	2. Remove the three screws, flat washer, and cable clamp securing the temperature/humidity sensor to the insulating disk. Save the small screw and flat washer for use later.
	3. Remove the two screws holding the insulating disk attached on the underside and discard the disk.
	4. Reinstall the sensor facing down on the second to bottom-most radiation plate, using the two 1” plastic spacers and #4 screws included with the kit.
	5. Replace the radiation plate back in its correct place in the radiation shield plating stack.



	Note: You do not need to use a cable clamp on the sensor cable when mounted on this plate.
	Assemble the Lower Section
	1. Build the lower section of the new radiation shield by stacking six plates; in this order, from the bottom up: 1: The original bottom plate. 2: The disassembled original top plate (with the inslating disc removed). 3: The plate containing the temp...


	Note: When stacking plates, make sure their screw standoffs line up with each other.
	2. Run the temperature/humidity cable up through the center of the three open plates.
	3. Set aside the re-assembled radiation shielding and find the fan plate motor assembly.
	4. Attach the three threaded spacers to the fan plate using the three #8-32 x 1/2'' screws and the three #8 washers and #8 lock washers included with the kit.
	5. Detach the fan motor cable from the power cable assembly on the fan plate, lift the fan motor out and set it aside.
	6. Place the fan plate onto the radiation shielding stack.
	7. Bring the temperature/ humidity cable over the top of the fan plate with as little slack as possible and press it firmly into the cable channel on the fan plate.
	8. Place one of the 4'' screws removed from the original radiation shield and its corresponding #8 lock washer and # 8 flat washer into one of the radiation shield plate holes on the fan plate located just counter-clockwise from a threaded spacer, ma...
	9. Turn the screw to engage the threaded insert in the bottom plate.
	10. Make sure the other screw standoffs are aligned and then insert the other two 4'' screws and corresponding washers in the same way.
	11. Tighten all three screws to securely fasten the bottom section of the radiation shield.
	12. Place the fan motor back into place and plug the fan motor cable back into the power cable assembly.
	13. Unscrew the cable clamp holding the power cable assembly in place.
	14. Thread the temperature/humidity sensor cable into the cable clamp and tighten the screw back down in its original placement.
	15. Place the cap plates on top (with the closed one on top) of the rest of the radiation shield and line up their standoffs.
	16. Insert one of the 3 1/4'' screws and corresponding lock and flat washers included in the kit hardware into one of the holes in the sensor suite base as show below.
	17. Lower the sensor suite base onto the stack so that the screw goes through the standoffs and into the threaded spacers. Turn the screw a few times to engage the threads.
	18. Place a lock washer and flat washer on the other two 3 1/4'' screws then insert them through the other two screw holes.
	19. Tighten all three screws to securely fasten the radiation shield to the sensor suite base.


	Finishing Steps
	1. Install the rain collector cone and lock it in place.
	2. Slide the fan unit’s power cable, the anemometer cable, and the temperature/humidity sensor cable and through the cable access port of the sensor transmitter.
	Tip: If you have trouble getting all the sensor cables into the access port, make sure all the installed cables are pushed to the left of the access port. Try inserting the three cables through the access port in this order: fan power cable, anemomet...
	3. Reconnect the temperature/humidity sensor cable.
	4. Close the sensor transmitter cover temporarily without connecting the solar panel cables.
	5. Test communication between the sensor suite and the console. To test communication, take the console out of Setup Mode and make sure the console is receiving data from the sensor suite. See your sensor suite manual for more information on testing ...
	6. Reinstall the sensor suite in its previous location.
	7. Open the sensor transmitter cover and discard it.
	8. Reconnect the WIND (anemometer) cable.
	9. Cabled sensor suites: Connect the console cable.
	10. Find the new sensor transmitter door that came with your fan kit. Connect the wire coming from the top solar panel on the cover to the sensor transmitter board as shown below.

	Note: This wire is not needed on cabled Vantage Pro2. For cabled systems, you should secure it where it will not interfere with the SIM box.
	11. Connect the wire coming from the bottom solar panel to power cable assembly in the sensor transmitter.
	12. Reinsert the foam into the cable access port in the sensor transmitter.
	13. Close the sensor transmitter.
	14. Use cable ties to secure cables.
	15. Make sure the fan blades are rotating by directing the transmitter cover to sunlight or by shining a bright incandescent light on the solar panel. You should hear a slight whir if the fan is running.
	Tip: Make sure to take the console out of Setup Mode. Refer to your Vantage Pro2 Console Manual for more information on clearing any erroneous data from the console.
	Guidelines for Securing Cables
	Securing Cables


	Note: Do not use metal staples or a staple gun to secure cables. Metal staples—especially when installed with a staple gun—have a tendency to cut the cables.

	Maintenance
	Annual Maintenance
	1. Remove your fan-aspirated sensor suite and place on a stable work surface.
	2. Check to see if the fan motor is still working. If it is not running, replace the motor with a new motor (# 7758).
	3. Disassemble the radiation shield.
	4. Remove any debris lodged inside the unit.
	5. Clean the surfaces of the radiation shield with a damp cloth.
	6. Reassemble the radiation shield.
	7. Re-install the sensor suite in its previous location.


	Contacting Davis Instruments
	Note: Please do not return items to the factory for repair without prior authorization.




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


